Exercises 7.5

2.

2? =102+ 16% — 2- 10 - 16 - cos 98° = 100 + 256 — 320 cos 98° ~ 400.535 and so

x =~ 1/400.535 =~ 20.

154.6%2 = 60.12 + 122.52 — 2. 60.1 - 122.5 - cos . Then cos§ =
~—-0359 & 6O~ cos‘l(—0.359) ~ 111°.

154.6% — 60.1% — 122.52
+—2-60.1-122.5

202 — 102 —122 156

2 2 2 -— . . . freeed = e
20 =10°+12°—2-10-12-cosf. Then cosd 51012 510 065 <«
6 ~ cos™1(—0.65) ~ 130.54°.
122 — 402 — 442
2 2 2_9, . . = - =~ (.
12° =40 444 —2-40-44 -cos B io Cf)sf;so —0 4044 0964 &
B~ cos10.964 % 15°. ThensinAd = ———=""- ~ 0891 4 ZA~sin™'0.891 ~ 63°

and so ZC' ~ 180° — 15° — 63° = 102°.
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